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Ratio to DO

10?

10

[EEY

0.5

1960 GeV ppbar Jets
[ T T I T I I T I T T I T I I T —]
| | | %
= 3-jet mass (DO P >70GeV, ly| < 2.4) =3
— ' Os
B =2
B Tl
I Al
| )
— e
— —m
— o
L 1=
— 1
- =
™
<
— — M
— H©
_ i )
L e p)
| |
L =
m DO s
= --{3-- Herwig 7.1.4 default ==
— —a— Pythia 8.301 default 92
S ¢ Sherpa 1.3.0 default 7] §
B BE%
| _15
— = Q.
— —_ O
) | | | [ | [ | | = -
:I | T T T T | T j ’ - T T |:
— -2
: /" :
B . ]
/, ’ 1
o |
= ‘ —]
- O ]
- _
| —0.5
1 " | " 1 1 " 1 1 " | " 1 " 1 1 " |
500 1000 1500



	Contents
	Page 1


